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(Weightage : 70%) 

Note : Attempt questions from each section as per 

instructions. 

SECTION A 
(Long-Answer Questions) 

Answer any two questions from this section in about 

500 words each. 	 2x20=40 

1. Explain the Expenditure method of estimating 
National Income. What steps are undertaken 
and what precautions are to be taken in this 

regard? 

2. Define National Capital and describe its main 
components. What problems arise in its 
estimation ? Discuss. 

3. What do you understand by flow of funds 
statement ? How is it constructed and presented ? 

Discuss. 

4. What do you mean by economic welfare ? In 
what ways do the changes in size, composition 
and distribution of GDP affect economic 
welfare ? Discuss. 
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SECTION B 

(Medium-length Answer Questions) 

Answer any three questions from this section. 	3x10.30 

5. Describe how data is collected in India for 
agriculture and allied activities for the purpose 
of National Income Accounting. 

6. What do you understand by the concept of 'Value 
added' ? Distinguish between Gross value added 
at market price and Net value added at factor 
cost. 

Explain the significance of these concepts in 
National Income Accounting. 

7. Briefly discuss the concept of Net Economic 
Welfare. Name the persons who formulated this 
concept. 

8. State the main parts of the National Accounts 

Statistics published by Central Statistical 
Organisation. 

9. How is the Gross Value Added by the 
manufacturing sector in India estimated ? 
Discuss. 
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SECTION C 

(Short Answer Questions) 

Answer all questions from this section. 

10. Define any five of the following : 	 5x2=10 

Factor Cost 

Net Worth 

Disposable Income 

Double Entry Accounting System 

Intermediary Consumption 

Closed Economy 

11. Distinguish between any two of the 

following : 
	 2x5=10 

(a) Portfolio Investment and Direct Foreign 
Investment 

(b) Financial Assets and Non-financial Assets 

(c) Economic Activity and Non-Economic 
Activity 

(d) Indirect Taxes and Subsidy 

12. State whether the following statements are true 
5x2=10 

or false : 

Share of the Services sector in the National 
(a) Domestic Product has increased 

significantly in India in recent years. 
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(b) When aggregate National Income rises, per 
capita income also always rises. 

(c) A current transfer influences disposable 
income of one of the parties. 

(d) Consumption of fixed capital is deducted 
from gross investment in order to find net 
investment. 

(e) Financing of capital formation is mainly by 
savings generated in the domestic economy. 
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